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A Gentile, as well since he is not a X037 12

Overview
The x7n3 explains that a 121 cannot be a 7°%W to bring a v, since he is not a X707 72
Our Mmoo explains why the X713 did not offer another reason.
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The X3 could have said that a >721 is 9109 to be a MW to bring a v3, because we

require ‘N3 %12 oM’ your agents should be of the covenant (Jewish) -
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However he prefers to offer this reason of X1n°1 72 X% because it is applicable
even by a slave, since he too is not a X107 12, he cannot be a 5w to receive a va.

Summary
A 121 cannot be a "% (also) because we require n>2 °12 0omMbw, however an 72y

cannot be a 9w, only because he is not a X707 2.

Thinking it over
What would be the advantage of using M50 reason (N2 °12 2OMW) over the s'X723

reason (XN’ 72 X?) that NN suggests it?*

' A Gentile is not subject to the rules of divorce which a Jewish woman is subject to; therefore he cannot act as an
agent to execute a divorce.

2 See on the 'a Tmy and in >"wA there W% 7"7. The 770 writes (in 113, [[7P] 727132) concerning 7wy N1 N that ¥ 0 30
anx o3, we derive from the word 03 to include 0>m>w, but we say since the 770 compares the 03 (the m°%w) to the anx
(the 28w), so we expound it to mean that just as the ank are 2"3, so the 0omM?w must also be 2", which excludes a
721 from the capability of being a 7w (for a P8 w°). See ‘Thinking it over’

3 See later on the very bottom of this 7y, where there is a query whether an *1¥13 72v can be MW to receive a 3 for a
woman. An *1¥1> 72¥ can be considered a 2"3, since he is TWRD NM¥nA 21, nevertheless he is not a X707 72 since he
IS not PPWITPY v’ NTN2 as the X3 concludes on the "2 Ty,

4 See o 7.
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